Parts List .«..x:

B 1N FL 4

Model: BC260DX-1 N—YYRAP2—F 523686






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
2. IO (DTUDT =R DU e 3~6
I SRV QU b B 100 5 St 3 B 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 10



1. BC260DX-1

X K




RHEES | HaES B & {1 &% &
1-1 364010 | BC260DX-1 1
1-2 817002 | 6 h4H Wb (+)WSW 4 | M5x20
1-3 096042 | 6 HYK L (+)WSW 1 | M5x30
1-4 221473 | 959Fr—A934T 1 |5~7794
1-5 221474 | 959Fh—2A 1
1-6 016405 | ATYYY 1 | #6200ZZ
1-7 013825 | C h'4kin 1 | #30
1-8 054677 | 979FF 74 1
1-9 226399 | T UMDY IH348T 1
1-10 219435 | £ 9YUh 1hoebA 1
1-11 215532 | fiv44=%") 1
1-12 054691 | YUhT9 9347 1 [ 137494
1-13 089738 | 6 HUH Ik (+ 77 &V ) 1 | M5x15
1-14 215418 | nUNIWMYTATY 34T 1 | 157494
1-15 092561 | 6 H9K Lk (+)SW 6 | M5x25 777 EYh
1-16 228089 | ¥ ¥hr—-R49347 1 [ 17~ 23744
1-17 234247 | 6 hif Wb 1 | M8X8
1-18 092550 | 6 HYH Wb (+)SW 1 | M5x25-7T
1-19 212986 | NE/HRRA 1
1-20 219195 | nE/K'AB 1
1-21 215610 | 6 h4H Wb WSW 1 | M8x22 t4)
1-22 222128 | ¥¥IF R IUNY 1
1-23 222129 | 4YEVAY 1 | 5x20
1-24 089737 | 6 AR Wb (+ 777 EYH) 1 | M5x12
1-25 220549 | F194v—) 1
1-26 233909 | #—L7°L—b 1 | BC260DX-1
1-27 225749 | nUN LIRS 1 | E4Y
1-28 225751 | nUN LIRS 1| 3%
1-29 215584 | AMT A4YF 1
1-30 222138 | A4YFhN - 1
1-31 232956 | M)hTH34T (T16) 1
1-32 232966 | AQYMLLA'— (T16) 1
1-33 233461 | 74YThA 1 | ILFr=7"1V 710X64
1-34 220533 | BARTNUNH3ET 1
1-35 222821 | Y ANAVAN-)34T 1 [367494
1-36 092561 | 6 H9H Wb (+)SW 2 | M5x25 77"tk
1-37 224693 | ¥Y7Y— 10 1




2. BC260DX-1 IT2oY
DI9r—R, VIUE




RHEES | HaES B & & &% &
2-1 859069 | IVY'Y 1 | DE260/84
2-2 269140 | Y)u& 1
2-3 282330 | ' AHYE 1
2-4 261250 | 6 H97 Y%K ILF WSW 4 | M5x20
2-5 269144 | 41U¥1L—4% 1
2-6 267049 | B AHYE 1
2-7 269826 | TAIRY ()WSW 2 | M5x25WSW *v4
2-8 280746 | ¥757tY7Y) 1
2-9 280428 | I AL 1
2-10 266264 | 291 2 | M5x50 770

-11 280521 | k97" hin— 1

-12 269828 | FAIRY (MW 1 | M5x16W

- 269153 | #7095 —-2 1

- 280488 | ATYUY 2 | PPL 6001

- 261386 | #4LY—IL 1

2-1 261492 | #ANY—=I 1

2-1 055185 | C h'4ki0 1 | 7F39 28
2-1 264582 | A9Y)-Y 1

2-1 261246 | 6 h97 Y%K L+ WSW 3 | M5x25

2-2 269160 | E'AbY 1

2-21 261496 | E'AMUY 2

2-22 261497 | E'AMIEY 1

2-23 261037 | Z—FILATYUY 1

2-24 261576 | #—49Yv7° 2

2-25 282323 | 47V9v%70av77)—b 1

2-26 264503 | 479F7tU77) 1 127287494
2-27 264504 | 479Fv1 2

2-28 263614 | EYNYIL N % 1

2-29 264505 | KILb 2

2-30 261189 | 3% H'% 2 | 6x16.5xT1.2
2-31 261777 | 9I-7"79v% 2

2-32 269880 | 77UhN— 1

2-33 269831 | A1y (+)WSW 4 | M5x20WSW
2-34 280077 | ¥ #b7EVT) 1 |35~ 43744
2-35 261356 | A—4% 1

2-36 280078 | 19 =93AVA{NTEYT) 1 |37~ 43744
2-37 267401 | 241 1

2-38 267584 | 1—FM434T 1 |39~ 417494
2-39 261074 | 7°39°%vv7’ 1

2-40 261075 | 794 1

2-41 267585 | 1—F 1

2-42 261072 | ¥vv7° 1

2-43 280080 | F1-7 1

2-44 261076 | N 9%— 1

2-45 261417 | ¥73% 0H 29%+Uk 1 | M8




2. BC260DX-1 IT2oY
DI09r—R, VIUE




RHEES | BRES I 71 &%k fis
2-46 280381 | AN—# 2

2-47 261256 | 6 W97 FY+HK Lk WSW 2 | M4x25
2-48 264652 | AN=h7'3Y° 1 | cJsy

2-49 267492 | -} 2

2-50 269189 | 4°'AAYE 1

2-51 264588 | 1597 1

2-52 280670 | 4°AAYE 1

2-53 269705 | AN IBREY VR EYWEY,




3. BC260DX-1 T oY
JaqIJLRBE—A




RHEES | HaES B & 1 &% & =
3-1 283476 | JAAWARI-4T 1T 1 [2~12744

3-2 283477 | A4—471V77 1 | 3~117494

3-3 283504 | -l 1

3-4 283505 | hA7'L—b 1

3-5 283506 | 4VNRT WY 1

3-6 280931 | ANATNAT YUY 1

3-7 267213 | YRS 1

3-8 283578 | A-7°7tU7Y) 1 [9~117494

3-9 283579 | A4—40-7° 1

3-10 261725 | A4—4)7 1

3-11 283511 | A=7°AMUN 1

3- 283575 | A4—47"-Y7tU7") 1

3- 280696 | 74 7°47tv77 1

3- 269351 | FYk 1

3- 269206 | 7°L—b 1

3-16 265726 | 6 hHT7FYEK ILE WSW 3 | M4x16

3-17 283391 | A%Y1 2 | M4x20

3-18 282096 | A%Y)1 1 | M4x16

3-19 289167 | 31 1 | RA4—} /BC260DX-1




FrILE, BEEY

4. BC260DX-1 T Iy




RHEES | HaES B & 1 &% &
4-1 280101 | ¥¥7°L47tV7) 1 [2~15744
4-2 263739 | KVIEKTA 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4%77L 1
4-9 282576 | h'AYb 1
4-10 267358 | Y IYh 1
4-11 261871 | Oy 1
4- 261876 | vy 1
4- 261658 | A4~ 1
4- 264682 | %Y1 2
4- 262996 | A%Y)1 4
4-1 261864 | H"AHYh 1
4-1 284823 | T—AT7tV7) 1 |18 ~ 24791
41 269050 | H—AK'T4 1
4-1 284802 | N7 1
4-2 284803 | Ln'— 1
4-21 284816 | 79y¥ 1 | 6.4x11x0.15
4-22 269032 | A%Y1 1
4-23 126993 | 6 HHFYk 1 | M5
4-24 269051 | RY)=7" 2
4-25 269030 | ILAVH 1
4-26 281777 | A1y ()WSW 2 | M5x55WSW-7T
4-27 283772 | H)—Fhin— 1
4-28 269031 | A%Y1 1 | M5x12
4-29 280020 | AAANLYUY 1
4-30 269199 | 497077 1 |31~ 41794
4-31 269200 | 71-IM4YY 1
4-32 281565 | 4v9%Y97°7tY77) 1 33744
4-33 269377 | NIy 1
4-34 261696 | 771)—%)34T 1
4-35 265952 | 71-IMNATTEYTY 1 |36~ 41744
4-36 265867 | N47TEUT 1 [37~39744
4-37 265869 | #'OAYh 1
4-38 261690 | #3AUNA7 1 | 160L
4-39 263038 | A—n70-N47 1
4-40 264653 | 7447 €Y7 1
4-41 261117 | 997’ 1
4-42 261117 | 9Y97° 1
4-43 269690 | A%Y1 3 | M5x18
4-44 281596 | 3~ 1 | F3-9

-10-




5. BC260DX-1

=0
AR

T &

-11-



RHEES | BRES =1 71 &%k fis
5-1 221460 | K3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE'FYHAANT 1
5-4 219431 | 6 h9R AN 1 | ZAUnN 3
5-5 022865 | YIAVYFANT 1 | 8x10
5-6 233910 | M)7Yh4tEYr3 1 | BC260DX-1

-12-




eco .
BB OLDDTSUK
\ld

Q 2 LRETR
s EHRMERERDO

ALy FE—- b 42— EF 0120-898-114
ZFIFIRERT: AM9:00~PN5:00(+. BH. 418 %% <)

Printed in japan 2013-08.J




